1. Kompleksiniai skaiciai.
1. Atlikite veiksmus :
) (2—i)" + 146
1—iy
2)

(2—i)° +(4—1i)
(1+2i)°

2. Istraukite kvadratine saknj .

1) V16 + 307 .

2) V9 — 401 .

3. Isspreskite lygtis.

1) (2—2)22 = (6+6i)z—5+5 =0.
2) 212 — (8 +2)x+(4—Ti)=0.
3)3zz2+2—-22=5—-3.

4) 22422 —2=6—061 .

4. Raskite kompleksiniams skai¢iams z atitinkanciy geometrine vieta .
D) ]z4+1—1d>1.
2) |z —1—2i| < 2.
Nz+2—1|=|z—-1431.
)z —i| > |z =1+ 2.
5) |z +i| > 1, Re z <2, Im z > 3.
5. Apskaiciuokite.
(1 + Z\/g) (cosdp + isindy)

cos 2¢ — 1sin 2¢
(1 _ Z\/g) 10




